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QUESTION 1

Which two storage controller configurations can be used with Virtual SAN? (Choose two.)
A. SAS controllers in Passthrough mode

B. SAS controllers in RAIDO mode

C. SAS controllers in RAID1 mode

D. SAS controllers in RAID10 mode

Correct Answer: AB

SAS controllers in passthrough mode and in RAID 0 mode can be used with virtual SAN.

Reference: http://blogs.vmware.com/vsphere/2014/01/virtual-san-hardware-guidance-part-ii-storagecontrollers.html

QUESTION 2

A Fault Tolerance (FT) virtual machine with four vCPUs is experiencing high latency when performing ICMP and
Application tests.

What are three potential causes that may be attributing to this latency? (Choose three.)

A. The FT network has insufficient bandwidth and is running on a 1GB Link.

B. The FT network is on a particularly high latency link.

C. The FT network has been configured with Network 1/0 Control.

D. The FT virtual machine is running an e1000 network adapter.

E. The FT virtual machine is running on poor performing network-based storage.

Correct Answer: ABC

The latency can be caused by FT network having insufficient bandwidth and is running on a 1 GB link or the network is

on a particularly high latency risk. The other reason might be that the FT network has been configured with network I/O
control.

QUESTION 3

Which load balancing policy, previously limited to vSphere Distributed Switches, is now available on vSphere Standard
Switches with vSphere 6.x?

A. Route based on physical NIC workload
B. Route based on IP Hash

C. Route based on the originating virtual port
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D. Route based on Source MAC Hash
Correct Answer: A

Route based on physical NIC workload was limited to vSphere Distributed switches. Now its available on vSphere
standard switches with vSphere 6.x

Reference: https://pubs.vmware.com/vsphere-60/topic/com.vmware.lCbase/PDF/vsphere-esxi-
vcenterserver-60-networking-guide. pdf

QUESTION 4

What component must be installed prior to deploying a vCenter Server in vSphere 6.x?
A. vCenter Identity Services

B. Platform Services Controller

C. vCenter Single Sign-On

D. Client Integration Plug-In

Correct Answer: B

You have to install Platform services controller before deploying vcenter server in vSphere 6.x Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalld=2107948

QUESTION 5

An administrator is virtualizing a physical application server and adding it to an existing multi-tiered vApp. The
application license is currently tied to the physical NIC\\'s MAC address, so the administrator needs to ensure the
license will function properly in the virtual machine.

Which two actions can the administrator take to satisfy this task? (Choose two.)

A. Set the MAC address for the vNIC in the guest operating system.

B. Install the physical server\\'s NIC into the ESXi host.

C. Configure the MAC address for the vNIC using the vSphere Web Client.

D. Assign the physical server NIC\\'s MAC address in the vSphere Distributed Switch.

Correct Answer: AB

First set the MAC address for the vNIC in the guest operating system and install the physical server\\'s NIC into the
ESXi host. Reference: http://rickardandersson.com/manual-mac-address-for-a-vmware-guest
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